General Info		
Number: Description:	PROJECT NO. 40-20-01	
Description.	BRIDGE REPAINTING	
	OHIO TURNPIKE OVER BLACK RIVER –	
	M.P. 145.9,	
	OHIO TURNPIKE OVER NORFOLK	
	SOUTHERN RAILROAD – M.P. 147.9,	
	OHIO TURNPIKE OVER CLEVELAND	
	STREET (U.S. 20/S.R. 113) – M.P. 148.0	
	LORAIN COUNTY, OHIO	
Deadline:	NOVEMBER 6, 2020 AT 2:00 PM (EASTERN)	

(Estimated Cost: \$3,250,000.00)

Bids Business	Bid Total
APBN Inc	\$2,859,109.00
KMX Painting, Inc.	\$3,106,080.00
360 Construction Co Inc.	\$3,426,900.00
M&J Construction Co of Pinellas County, Inc	\$3,758,336.00
Elite Contractors, Inc.	\$3,781,490.00
Panther Industrial Painting, LLC	\$4,241,000.00

APBN, INC.

GENE	RAL (Ref. Nos. 1 - 4)				
Ref.	Item No. Description	Quantity	Units	Unit Price	Extension
No.					
1	IB.ART.6 PREMIUM FOR CONTRACT PERFORMANCE BOND	1	LUMP SUM	\$30,000.00	\$30,000.00
	AND PAYMENT BOND				
2	SP 119 RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$10,000.00	\$10,000.00
3	SP 614 MAINTAINING TRAFFIC	1	LUMP SUM	\$70,000.00	\$70,000.00
4	624 MOBILIZATION	1	LUMP SUM	\$40,000.00	\$40,000.00
				Total:	\$150,000.00

	ING OF STRUCTURE - OHIO TURNPIKE OVER BLACK RIVE		-		
Ref.	Item No. Description	Quantity	Units	Unit Price	Extension
No.					
5	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$887,649.00	\$887,649.00
6	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$253,614.00	\$253,614.00
7	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$253,614.00	\$253,614.00
8	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$253,614.00	\$253,614.00
9	SP 514A REMEDIATION OF CHLORIDES	64	HOURS	\$50.00	\$3,200.00
10	SP 514A GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$50.00	\$2,500.00
11	SP 525A WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
12	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00
13	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00
14	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$10,000.00	\$10,000.00
15	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$10,000.00	\$10,000.00
				Tatal	¢4 676 004 00

Total: \$1,676,391.00

Ref.	ING OF STRUCTURE - OHIO TURNPIKE OVER NORFOLK SO Item No. Description	Quantity	Units	Unit Price	Extension
No.					
16	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$216,146.00	\$216,146.00
17	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$61,756.00	\$61,756.00
18	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$61,756.00	\$61,756.00
19	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$61,756.00	\$61,756.00
20	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
21	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
22	SP 525A WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
23	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00
24	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00
25	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$5,000.00	\$5,000.00
26	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$5,000.00	\$5,000.00

Total: \$416,214.00

PAINTI	NG OF STRUCTURE - OHIO TURNPIKE OVER CLEVELAND	STREET	(US 20/SR 1	113) - MP 148.0) (Ref. Nos.
Ref.	Item No. Description	Quantity	Units	Unit Price	Extension
No.					
27	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$300,852.00	\$300,852.00
28	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$100,284.00	\$100,284.00
29	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$100,284.00	\$100,284.00
30	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$100,284.00	\$100,284.00

31	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
32	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
33	SP 525A WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00
35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$5,000.00	\$5,000.00
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$5,000.00	\$5,000.00
			Тс	\$616,504.00	
TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 37)					\$2,859,109.00

KMX PAINTING, INC.

		Nos. 1 - 4) Description	Quantity	Units	Unit Price	Extension
1		PREMIUM FOR CONTRACT PERFORMANCE BOND	1	LUMP SUM	\$45,000.00	\$45,000.00
I	ID.ART.0	AND PAYMENT BOND	I	LUMP SUM	φ43,000.00	\$45,000.00
2	SP 119	RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$15,000.00	\$15,000.00
3	SP 614	MAINTAINING TRAFFIC	1	LUMP SUM	\$160,000.00	\$160,000.00
4	624	MOBILIZATION	1	LUMP SUM	\$220,000.00	\$220,000.00
					Total:	\$440,000.00

PAINTI	NG OF STRUCTURE - OHIO TURNPIKE OVER BLACK RIVER	- M.P. 14	45.9 (Ref. No:	s. 5 - 15)	
Ref. No.	. Item No. Description	Quantity	Units	Unit Price	Extension
5	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$800,000.00	\$800,000.00
6	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$80,000.00	\$80,000.00
7	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$60,000.00	\$60,000.00
8	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$60,000.00	\$60,000.00
9	SP 514A REMEDIATION OF CHLORIDES	64	HOURS	\$30.00	\$1,920.00
10	SP 514A GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$200.00	\$10,000.00
11	SP 525A WORKER PROTECTION	1	LUMP SUM	\$2,000.00	\$2,000.00
12	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
13	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$2,000.00	\$2,000.00
14	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$4,000.00	\$4,000.00
15	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$340,000.00	\$340,000.00

\$1,360,920.00 Total:

	NG OF STRUCTURE - OHIO TURNPIKE OVER NORFOLK SO . Item No. Description	UTHERN Quantity	RAILROAD · Units	• MP 147.9 (Re Unit Price	f. Nos. 16 - Extension
16	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$300,000.00	\$300,000.00
17	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$40,000.00	\$40,000.00
18	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$40,000.00	\$40,000.00
19	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$20,000.00	\$20,000.00
20	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
21	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
22	SP 525A WORKER PROTECTION	1	LUMP SUM	\$2,000.00	\$2,000.00
23	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$25.00	\$500.00
24	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$2,000.00	\$2,000.00
25	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$2,000.00	\$2,000.00
26	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$200,000.00	\$200,000.00
				Total:	\$612,100.00

	NG OF STRUCTURE - OHIO TURNPIKE OVER CLEVELAND	STREET (U Quantity	S 20/SR 11 Units		Ref. Nos. 27 - Extension
27	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$400,000.00	\$400,000.00
28	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$40,000.00	\$40,000.00
29	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$40,000.00	\$40,000.00
30	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$20,000.00	\$20,000.00

31	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$80.00	\$2,560.00	
32	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00	
33	SP 525A WORKER PROTECTION	1	LUMP SUM	\$2,000.00	\$2,000.00	
34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$25.00	\$500.00	
35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$2,000.00	\$2,000.00	
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP SUM	\$2,000.00	\$2,000.00	
	AND DISPOSAL					
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$180,000.00	\$180,000.00	
			Т	\$693,060.00		
TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 37)					\$3,106,080.00	

360 CONSTRUCTION CO., INC.

GENERAL (Ref. Nos. 1 - 4)

Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP SUM	\$40,000.00	\$40,000.00
		BOND AND PAYMENT BOND				
2	SP 119	RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$5,000.00	\$5,000.00
3	SP 614	MAINTAINING TRAFFIC	1	LUMP SUM	\$200,000.00	\$200,000.00
4	624	MOBILIZATION	1	LUMP SUM	\$100,000.00	\$100,000.00

Total: \$345,000.00

PAINTIN	IG OF STRUCTURE - OHIO TURNPIKE OVER BLACK RIV	'ER - M.P.	145.9 (Ref. N	Nos. 5 - 15)	
Ref. No.		Quantity	Units	Unit Price	Extension
5	SP 514A SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$700,000.00	\$700,000.00
	SYSTEM OZEU				
6	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP SUM	\$375,000.00	\$375,000.00
	COAT, SYSTEM OZEU				
7	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$250,000.00	\$250,000.00
	INTERMEDIATE COAT, SYSTEM OZEU				
8	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$125,000.00	\$125,000.00
	FINISH COAT, SYSTEM OZEU				
9	SP 514A REMEDIATION OF CHLORIDES	64	HOURS	\$100.00	\$6,400.00
10	SP 514A GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$150.00	\$7,500.00
11	SP 525A WORKER PROTECTION	1	LUMP SUM	\$20,000.00	\$20,000.00
12	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00
13	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$10,000.00	\$10,000.00
14	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP SUM	\$60,000.00	\$60,000.00
	AND DISPOSAL				
15	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$300,000.00	\$300,000.00
				Total:	\$1,854,100.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER NORFO	JLK SOUTHERN	RAILROA	D - MP 147.9 (Ref. Nos. 16 -
Ref. No. Item No. Description	Quantity	Units	Unit Price Extension

16	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$260,000.00	\$260,000.00
17	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
18	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$60,000.00	\$60,000.00
19	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$30,000.00	\$30,000.00
20	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00
21	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$150.00	\$3,000.00
22	SP 525A WORKER PROTECTION	1	LUMP SUM	\$10,000.00	\$10,000.00
23	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00
24	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$5,000.00	\$5,000.00
25	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$15,000.00	\$15,000.00
26	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$40,000.00	\$40,000.00
				Total:	\$516,400.00

PAINTIN	IG OF STRUCTURE - OHIO TURNPIKE OVER CLEVELA	ND STREET	(US 20/SR	113) - MP 148.0	(Ref. Nos.
Ref. No.	Item No. Description	Quantity	Units	Unit Price E	xtension
27	SP 514A SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$365,000.00	\$365,000.00
	SYSTEM OZEU				
28	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP SUM	\$135,000.00	\$135,000.00
	COAT, SYSTEM OZEU				
29	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$90,000.00	\$90,000.00
	INTERMEDIATE COAT, SYSTEM OZEU				
30	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$45,000.00	\$45,000.00
	FINISH COAT, SYSTEM OZEU				
31	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00
32	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$150.00	\$3,000.00
33	SP 525A WORKER PROTECTION	1	LUMP SUM	\$10,000.00	\$10,000.00
34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00

35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$5,000.00	\$5,000.00
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$15,000.00	\$15,000.00
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$40,000.00	\$40,000.00
				Total:	\$711,400.00
	TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 37	7)			\$3,426,900.00

M & J CONSTRUCTION

GENERAL (Ref. Nos. 1 - 4) Ref. No. Item No. Descriptio

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1	LUMP SUM	\$37,211.00	\$37,211.00
2	SP 119	RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$6,000.00	\$6,000.00
3	SP 614	MAINTAINING TRAFFIC	1	LUMP SUM	\$131,000.00	\$131,000.00
4	624	MOBILIZATION	1	LUMP SUM	\$400,000.00	\$400,000.00
					Total:	\$574,211.00

PAINTIN	IG OF ST	RUCTURE - OHIO TURNPIKE OVER BLACK RIV	ER - M.P.	145.9 (Ref.	Nos. 5 - 15)	
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
5	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$484,000.00	\$484,000.00
6	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$363,000.00	\$363,000.00
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$363,000.00	\$363,000.00
8	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$242,000.00	\$242,000.00
9	SP 514A	REMEDIATION OF CHLORIDES	64	HOURS	\$200.00	\$12,800.00
10	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$150.00	\$7,500.00
11	SP 525A	WORKER PROTECTION	1	LUMP SUM	\$5,000.00	\$5,000.00
12	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$100.00	\$2,000.00
13	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP SUM	\$5,000.00	\$5,000.00
14	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$10,500.00	\$10,500.00
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP SUM	\$600,000.00	\$600,000.00

Total: \$2,094,800.00

ker. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$131,500.00	\$131,500.00
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$78,900.00	\$78,900.00
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$78,900.00	\$78,900.00
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$52,600.00	\$52,600.00
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$200.00	\$6,400.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$150.00	\$3,000.00
22	SP 525A	WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$100.00	\$2,000.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP SUM	\$2,000.00	\$2,000.00
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$4,000.00	\$4,000.00
26	SP 525A	CONTAINMENT SYSTEM	1	LUMP SUM	\$52,600.00	\$52,600.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER NORFOLK SOUTHERN RAILROAD - MP 147.9 (Ref. Nos. 16 Ref. No. Item No. Description

Total:

\$412,900.00

PAINTI	NG OF STR	RUCTURE - OHIO TURNPIKE OVER CLEVELAN	D STREE	Γ (US 20/SR	113) - MP 148	.0 (Ref. Nos.
Ref. No.	. Item No. I	Description	Quantity	Units	Unit Price	Extension
					.	<u> </u>
27		SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$218,675.00	\$218,675.00
28		FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$131,205.00	\$131,205.00
29		FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$131,205.00	\$131,205.00
30		FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$87,470.00	\$87,470.00

	TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 3	7)			\$3,758,336.00
			т	otal:	\$676,425.00
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$87,470.00	\$87,470.00
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$5,000.00	\$5,000.00
35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$2,000.00	\$2,000.00
34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$100.00	\$2,000.00
33	SP 525A WORKER PROTECTION	1	LUMP SUM	\$2,000.00	\$2,000.00
32	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$150.00	\$3,000.00
31	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$200.00	\$6,400.00

ELITE CONTRACTORS, INC.

GENERA	L (Ref. N	os. 1 - 4)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP SUM	\$80,000.00	\$80,000.00
		BOND AND PAYMENT BOND				
2	SP 119	RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$15,000.00	\$15,000.00
3	SP 614	MAINTAINING TRAFFIC	1	LUMP SUM	\$300,000.00	\$300,000.00
4	624	MOBILIZATION	1	LUMP SUM	\$150,000.00	\$150,000.00
						. ,

Total: \$545,000.00

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER BLACK RIVER - M.P. 145.9 (Ref. Nos. 5 - 15)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
5	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$1,112,500.00	\$1,112,500.00
6	SP 514A	SYSTEM OZEU FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$175,000.00	\$175,000.00
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$175,000.00	\$175,000.00
8	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$175,000.00	\$175,000.00
9	SP 514A	REMEDIATION OF CHLORIDES	64	HOURS	\$30.00	\$1,920.00
10	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$50.00	\$2,500.00
11	SP 525A	WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
12	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$30.00	\$600.00
13	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP SUM	\$4,000.00	\$4,000.00
14	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$15,000.00	\$15,000.00
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP SUM	\$100,000.00	\$100,000.00
					Total:	\$1,762,520.00

PAINTING	G OF STR	UCTURE - OHIO TURNPIKE OVER NORFOLK S	OUTHERI	N RAILROAI	D - MP 147.9 (F	Ref. Nos. 16 -
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$375,250.00	\$375,250.00
		SYSTEM OZEU				
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP SUM	\$90,000.00	\$90,000.00
		COAT, SYSTEM OZEU				
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$90,000.00	\$90,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$90,000.00	\$90,000.00
		FINISH COAT, SYSTEM OZEU				
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$30.00	\$960.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
22	SP 525A	WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP SUM	\$5,000.00	\$5,000.00
		AND DISPOSAL				
26	SP 525A	CONTAINMENT SYSTEM	1	LUMP SUM	\$75,000.00	\$75,000.00

Total:

\$729,610.00

PAINTING	G OF STR	UCTURE - OHIO TURNPIKE OVER CLEVELAND	STREET	(US 20/SR	113) - MP 148.0) (Ref. Nos.
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
27	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$375,000.00	\$375,000.00
28	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
29	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
30	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
31	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$30.00	\$960.00
32	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
33	SP 525A	WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00

34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP SUM	\$5,000.00	\$5,000.00
	AND DISPOSAL				
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$90,000.00	\$90,000.00
			_		A7 4 4 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9
			I	otal:	\$744,360.00
TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 37)					

PANTHER INDUSTRIAL PAINTING

GENERAL (Ref. Nos. 1 - 4)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP SUM	\$10,000.00	\$10,000.00	
		BOND AND PAYMENT BOND					
2		RAILROAD PROTECTIVE LIABILITY INSURANCE	1	LUMP SUM	\$10,000.00	\$10,000.00	
3	SP 614	MAINTAINING TRAFFIC	1	LUMP SUM	\$250,000.00	. ,	
4	624	MOBILIZATION	1	LUMP SUM	\$200,000.00	\$200,000.00	
	-				Total:	\$470,000.00	
		RUCTURE - OHIO TURNPIKE OVER BLACK RIV					
Ref. No.		Description	Quantity	Units	Unit Price	Extension	
5	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$1,400,000.00	\$1,400,000.00	
		SYSTEM OZEU			•·	•	
6	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP SUM	\$150,000.00	\$150,000.00	
_		COAT, SYSTEM OZEU					
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$150,000.00	\$150,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
8	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$150,000.00	\$150,000.00	
	00 - 4 4 4	FINISH COAT, SYSTEM OZEU			* =0.00	\$ 0,000,00	
9		REMEDIATION OF CHLORIDES	64	HOURS	\$50.00		
10		GRINDING FINS, TEARS, AND SLIVERS	50	HOURS	\$200.00	. ,	
11			1	LUMP SUM	\$1,000.00		
12		PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	•	
13		ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	. ,	
14	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$10,000.00	\$10,000.00	
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP SUM	\$30,000.00	\$30,000.00	
					Total:	\$1,905,400.00	

PAINTING OF STRUCTURE - OHIO TURNPIKE OVER NORFOLK SOUTHERN RAILROAD - MP 147.9 (Ref. Nos. 16						
Ref. No.	Item No. Description	Quantity	Units	Unit Price	Extension	
16	SP 514A SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP SUM	\$750,000.00	\$750,000.00	
	SYSTEM OZEU					
17	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP SUM	\$60,000.00	\$60,000.00	
	COAT, SYSTEM OZEU					
18	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$60,000.00	\$60,000.00	
	INTERMEDIATE COAT, SYSTEM OZEU					
19	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP SUM	\$60,000.00	\$60,000.00	
	FINISH COAT, SYSTEM OZEU					
20	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00	
21	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00	
22	SP 525A WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00	
23	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00	
24	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00	
25	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP SUM	\$5,000.00	\$5,000.00	
	AND DISPOSAL					
26	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$20,000.00	\$20,000.00	

Total:

\$962,800.00

PAINTIN	G OF STRUCTURE - OHIO TURNPIKE OVER CLEVELAN	D STREE	T (US 20/SR	R 113) - MP 148	3.0 (Ref. Nos.
Ref. No.	Item No. Description	Quantity	Units	Unit Price	Extension
27	SP 514A SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP SUM	\$600,000.00	\$600,000.00
28	SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
29	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
30	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP SUM	\$90,000.00	\$90,000.00
31	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
32	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
33	SP 525A WORKER PROTECTION	1	LUMP SUM	\$1,000.00	\$1,000.00

34	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$10.00	\$200.00		
35	SP 525A ESTABLISH REGULATED AREAS	1	LUMP SUM	\$1,000.00	\$1,000.00		
36	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP SUM	\$5,000.00	\$5,000.00		
37	SP 525A CONTAINMENT SYSTEM	1	LUMP SUM	\$20,000.00	\$20,000.00		
Total:							
TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 37)							